20208 HESXMH =)z =L HMA
No. | oz EEEE. a7 o e
i | 20200102 | diersaz= 2 10,000 bBiuEsaz
> IEIEA2E e 200,000 HINEsa
3 EECEr (e 100,000 BiNE=aZ
4 | 20200105 | JlerzEaE . 30,0000 HINESaZ
5 | 20000106 | JlEi=R=E 2 30000 BuzEsaz
6 JIEIEA2E TN 50,0000 HINESaZ
7 S EECEE e 10,000 Bu=Esaz
8 | 20000108 | JlEi=R=E Qe 30,000 HINEsZ
9 S EECEE 2 50,0000 HINESEZ
10 | 20000109 | JlEtER=E S 50000 HuEsaz
1 | 20000110 | JEIER=ZE (e 200,000] BiuEsa3
12 | 20000113 | JlEiEA=E Ol % 10,0000 HuE=a
13 S EECEE 2 10,0000 HxE=
14 JIEIEASE o x 30,0000 HINEsaZ
15 S EECEE Hex 30,0000 HINESaZ
16 JIEEA2E T 20,000 HuEEa
7 IEIEASE Fxx 10,0000 HxE=2
18 JIEEA2E . 20,0000 HNEsaZ
19 | 20000115 | JIEIER=E S 20,0000 HINESaZ
20 | 2020-01-17 | JlEt=a3E @ 10,0000 #u=Esa
o1 IEIEASE 0% 10,000 du=Esaz
2 JIEEA2E . 500 HiuzEsaz
23 EIEASE 0% 10,000 du=Esaz
24 | 20200120 | JEI=RZE 2 ax 10,0000 HuEsaz
25 | 20200122 | JEIERaE . 50,0000 HINESaZ
2 | 20000108 | FHEE THS 2 ax 100,000 NEELE
27 S EECEE . 50,000 EECE
28 sEeT TS O xx 550,000 NEECE
29 IEIEASE ex 10,0000 wBxEs
30 | 20200125 | JEI=AZE 2 ex 3,000 BuzEsaz
31 IEIEASE Lpex 3,000 BuEsaz
32 JIEEa2E =, 50000 BuzEsaz
33 IEIEASE Txx 10,0000 bBxEs
3 JIEEa2E . 3,000 BuzEsaz
% IEIEASE B ex 50000 Biu=Esaz
%6 EECE e 10,0000 du=Esa3
37 IEIEASE B ex 10,0000 wBxuEs
38 EECE 0l % 3,000 BuzEsaz
39 IEIEASE = 3,000 BiuEsaz
40 EECE 2 10,000 bBiuE=az
41 IEIEASE Ol % 3,000 BiuEsaz




42 JEt=d=3 Bk 3,000 HXE=E=
43 JIEt=3=23 B 5,000 HXANEZ=E=
44 JEt=d=3 Lxx 20,000 HXE=E=
45 JIEt=3=23 Erx 6,000 HXNEZ=E=
46 JEt=d=3 O »* 3,000 HXE=E=
47 JIEt=3=23 2wk 3,000 HXNEZ=E=
48 JEt=d=3 &k 6,000 HXE=E=
49 JIEt=3323 B xx 5,000 HAE=3=
50 2020-01-28 JEt=d=3 & xx 50,000 BINE=&=
51 JIEt=3=23 ESER 10,000 HAE=3=
52 JEt=d=3 & xx 30,000 BINE=&=
53 JIEt=33=23 2wk 30,000 ANE=d=
54 JEt=d=3 Exx 30,000 ANE=d=
55 JIEt=3=23 *k 30,000 ANE=d=
56 JEt=d=3 Fax 10,000 BINE=&=
57 2020-01-30 JIEt=3=23 Bk 10,000 HAE=3=
58 JEt=d=3 O »* 10,000 BINE=&=
59 JIEt=3 =3 Ol »* 10,000 HXE=E=
60 JEt=3=3 Lk 50,000 BIANE=E=
61 JIEt=3 =3 el 10,000 HXE=E=
62 JEt=3=3 TEAx 10,000 BIANE=&=
63 JIEt=3 =3 Bhsx 20,000 HXE=E=
64 2020-01-31 JEt=3=3 Z** 3,000 BIANE=E=
65 JIEt=3 =3 Bk 5,000 HXE=E=
66 JEt=3=3 &k 10,000 BIANE=&=
67 JIEt=3 =3 Eoxx 5,000 HXE=E=
68 JEt=3=3 Sax 10,000 BIANE=E=
69 JEt=3=3 B *x 5,000 HXE=E=
70 JIEt=3=3 Ol »* 10,000 BIXNE=E=
71 JEt=d=3 & xx 10,000 HXE=E=
72 2020-02-03 JIEt=3=3 2 xx 10,000 BIXNE=E=
73 JIEt=3 =3 (*x 100,000 HXE=E=
74 2020-02-05 JIEt=3=3 Bk 10,000 BIXNE=E=
75 JIEt=3 =3 Lk 50,000 HXE=E=
76 2020-02-07 JIEt=3=3 Bk 200,000 BIXNE=E=
7 JEt=3=3 Dxx 30,000 HXE=E=
78 JIEt=3=3 2 xx 50,000 BIXNE=E=
79 2020-02-09 JEt=d=3 Fx 5,000 HXE=E=
80 2020-02-10 JIEt=3=3 (%% 200,000 BIXNE=E=
81 2020-02-11 JEt=d=3 Z ok 10,000 HXE=E=
82 JIEt=3=3 Ol »* 10,000 BIXNE=E=
83 2020-02-12 JEt=d=3 & xx 10,000 HXE=E=
84 JIEt=3=3 CH+= 40,000 BIXNE=E=




85 JEt=d=3 SHx 20,000 HXE=E=
86 JIEt=3=3 T xx 30,000 HXNEZ=E=
87 JEt=d=3 Bk 30,000 HXE=3=
88 JIEt=3=3 % 20,000 HXANE=E=
89 2020-02-13 JEt=d=3 2k 100,000 HXE=3=
90 JIEt=3=3 2 xx 10,000 HXANE=E=
91 2020-02-14 II%AE%I Es Abx* 2,500,000 HXANEZ=E=
92 2020-02-17 JIEt=3=3 Bk 20,000 HANE=E=
93 2020-02-19 JEt=3=3 ESl 10,000 BIANE=&=
94 JIEt=3=3 O »* 10,000 HAE=3=
95 JEt=d=3 Alxx 5,000 BIANE=&=
96 JIEt=3=3 O »* 10,000 HANE=3=
97 JEt=d=3 Dxx 10,000 BIANE=&=
98 JIEt=3=3 2 xx 10,000 HANE=3=
99 JEt=3=3 SHx 10,000 BIANE=E=
Bololo =9 =
100 | 2020-02-24 | == ‘_% o7 Lk 1,300,000 ANE=d=
101 JEt=3=3 T xx 10,000 BIANE=E=
102 JIEt=3=3 ESE 50,000 HXE=a=
103 | 2020-02-25 JEt=3=3 ESl 5,000 BIANE=E=
104 JIEt=3=3 ok 10,000 HXE=a=
105 JIEt=3=3 R 3,000 BIANE=E=
106 JIEt=3=3 Fxx 3,000 HXE=a=
107 JEt=3=3 Exx 5,000 BIANE=E=
108 JIEt=3=3 & xx 10,000 HXE=a=
109 JIEt=3=3 Bk 3,000 BIANE=E=
110 JIEt=3=3 XH % 5,000 HXE=a=
111 JIEt=3=3 ek 3,000 BIXNEZ=E=
112 JEt=d=3 Lbx* 3,000 HXE==
113 JIEt=3=3 ESl 30,000 ANE=d=
114 JEt=d=3 Exx 30,000 ANE=E=
115 JIEt=3=3 2k 30,000 ANE=d=
116 JEt=d=3 2 xx 30,000 HXE==
17 JIEt=3=3 e xx 50,000 BIXNEZ=E=
118 JEt=d=3 FHx 10,000 HXE==
119 JIEt=3=3 Flx% 10,000 BIXNEZ=E=
120 JEt=d=3 Ol »* 3,000 HXE=E=
121 JIEt=3=3 B xx 6,000 BIXNE=E=
122 JEt=d=3 Bk 5,000 HXE=E=
123 JIEt=3=3 xx 10,000 BIXNE=E=
124 JEt=d=3 S xx 5,000 HXE=E=
125 JIEt=3=3 Erx 3,000 BIXNE=E=
126 JEt=d=3 O »* 3,000 HXE=E=
127 JIEt=3=3 2wk 3,000 BIXNE=E=




128 JEt=d=3 &k 3,000 HXE=E=
129 JIEt=3=23 B 5,000 HXANEZ=E=
130 | 2020-02-27 JEt=d=3 Sxx 10,000 HXE=E=
131 JIEt=3=23 2% 50,000 HXNEZ=E=
132 | 2020-02-28 JEt=d=3 Bk 20,000 HXE=E=
133 JIEt=3=23 Bk 10,000 HXNEZ=E=
134 JEt=d=3 O »* 10,000 HXE=E=
135 JIEt=3323 Ol »* 10,000 HAE=3=
136 JEt=d=3 Tk 10,000 BINE=&=
137 JIEt=3=23 LS 10,000 HAE=3=
138 | 2020-02-29 JEt=d=3 Bk 5,000 BINE=&=
139 JIEt=33=23 ESER 3,000 HAE=3=
140 JEt=d=3 & xx 10,000 BINE=&=
141 JIEt=3=23 B *x 5,000 HAE=3=
142 JEt=d=3 Sax 10,000 BINE=&=
143 JIEt=3=23 Exx 5,000 HAE=3=
144 JEt=d=3 & xx 10,000 BINE=&=
145 | 2020-03-02 JIEt=3 =3 Lk 50,000 HXE=E=
146 JEt=3=3 (%% 100,000 BIANE=E=
147 | 2020-03-04 JIEt=3 =3 & xx 10,000 HXE=E=
148 JEt=3=3 B xx 10,000 BIANE=&=
149 JIEt=3 =3 Lk 50,000 HXE=E=
150 | 2020-03-09 JEt=3=3 Fax 5,000 BIANE=E=
151 JIEt=3 =3 Bhwx 200,000 HXE=E=
152 JEt=3=3 &k 50,000 BIANE=&=
153 JIEt=3 =3 Dxx 30,000 HXE=E=
154 | 2020-03-10 JEt=3=3 (%% 200,000 BIANE=E=
185 | 2020-03-11 JEt=3=3 Ol »* 10,000 HXE=E=
156 JIEt=3=3 2 xx 10,000 BIXNE=E=
157 | 2020-03-12 JEt=d=3 CH#* 40,000 HXE=E=
158 JIEt=3=3 Sxx 20,000 BIXNE=E=
159 JIEt=3 =3 Sk 10,000 HXE=E=
160 JIEt=3=3 T xx 30,000 BIXNE=E=
161 JIEt=3 =3 Bk 30,000 HXE=E=
162 JIEt=3=3 % 20,000 BIXNE=E=
163 JEt=3=3 T xx 10,000 HXE=E=
164 | 2020-03-13 JIEt=3=3 2 xx 10,000 BIXNE=E=
165 | 2020-03-16 JEt=d=3 Bk 20,000 HXE=E=
166 | 2020-03-18 JIEt=3=3 SHx 10,000 BIXNE=E=
167 JEt=d=3 Z ok 10,000 HXE=E=
168 JIEt=3=3 D*x 10,000 BIXNE=E=
169 JEt=d=3 Ol »* 10,000 HXE=E=
170 JIEt=3=3 L*x 10,000 BIXNE=E=
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214 EELEE: i x 50,0000 HINE=a3
215 IEIEA2E 2 ax 10,0000 BuEs
216 EECEE . 10,000 bBiuE=az
217 | 20200401 | JlEt=EaE 2 ax 10,0000 BuEs
218 | 20200402 | JlEi=R=E (s 100,000 BINE=aI
DI BE3
219 L Sex 00,0000 HxE=sA2
220 EECEE . 200,000 BINEE=aI
221 | 20200403 | JlEt=EaE TN 50,0000 HINESaZ
202 IEISASE = 10,000 du=Esaz
203 | 20200408 | JlEi=EaE 2 ax 50,0000 HINESaZ
204 IEIEASE @ 30,0000 HINESaZ
205 | 20200409 | JlEi=EaE = 50000 Bu=Esaz
206 | 202004-10 | JlEi=R=E (e 200,000] Hiu=Esa=
207 | 2020-04-13 | JlEte=EaE Hax 10,0000 bBuEsa
208 IEISASE . 20,000 BINE=aZ
229 IEIEA2E - 30,0000 HINEsaZ
230 EIEASE o x 30,0000 HINE=aZ
231 JIEEA2E Dex 20,000 BINE=saZ
232 IEIEASE T 2000 su=saz
233 JIEEA2E 2 ax 10,000 bBuEsaz
234 IEtEASE 0% 10,000 su=Esaz
235 | 2020-04-16 | JlEi=@aE 2 ax 10,000 BxuEsaI
236 IEIEASE . 20,000 BINE=aZ
237 | 2000-04-20 | JlEI=R=E E 10,0000 su=E=sa2
238 IEtEASE 0% 10,000 su=Esaz
239 IEEA2E 2 ax 10,000 BxuEsaI
240 JIEIEA2E Ol % 10,0000 BuE=
241 JlEEa2E . 10,0000 su=Esa
242 JIEIEA2E . 50000 HuEsaz
243 JlEEa2E =, 10,000 BxuEsaz
2a4 | 2020-04-22 | JlEl=R=E . 50,0000 HINESaZ
215 | 2020-04-23 | JlE=R=E Hex 10,000 BxuEEaz
246 | 2020-04-24 | OlE=R=E . 50,000 EECE
247 seeE TS O ax 1,300,000 WEECE
248 | 2020-04-25 | OlEl=R=E = 50000 Bu=Esaz
249 JlEEa2E E 10,0000 su=Esa
250 JIEIEASE . 50000 HuEsaz
251 EECE . 3,000 BiuzEsaz
250 JIEIEA2E Ol % 3,000 BuEsaz
253 EECE 2 e 10,000 bBxuEsaz
254 JIEIEA2E B ex 10,0000 HBxuEs
255 EECE 2 e 3,000 BiuzEsaz
256 JIEIEA2E B ex 50000 BuEsaz




257 JEt=d=3 Bk 3,000 HXE=E=
258 JIEt=3=3 XH x* 5,000 HXNEZ=E=
259 JEt=d=3 Z ok 6,000 HXE=3=
260 JIEt=3=3 L+ 3,000 HXANE=E=
261 JEt=d=3 &k 3,000 HXE=3=
262 JIEt=3=3 B xx 5,000 HXANE=E=
263 JEt=d=3 O »* 3,000 HXE=d=
264 JIEt=3=3 Erx 3,000 HANE=3=
265 JEt=3=3 2 xx 3,000 BIANE=&=
266 | 2020-04-27 JIEt=3=3 ESL 30,000 ANE=d=
267 JEt=d=3 LExx 30,000 INESECS S
268 JIEt=3=3 2wk 30,000 ANE=d=
269 JEt=d=3 Fxx 10,000 BIANE=&=
270 JIEt=3=3 2 xx 50,000 HANE=3=
271 JEt=3=3 &k 30,000 BIANE=E=
272 JEt=3=3 Flx% 10,000 HANE=3=
273 | 2020-04-29 JEt=d=3 O »* 10,000 BIANE=&=
274 JIEt=3=3 Ol »* 10,000 HXE=a=
275 JEt=3=3 Lk 50,000 BIANE=E=
276 JIEt=3=3 SHx 10,000 HXE=a=
277 JIEt=3=3 TEHx 10,000 BIANE=E=
278 JIEt=3=3 LS 10,000 HXE=a=
279 JEt=3=3 2 xx 50,000 BIANE=E=
280 JIEt=3=3 e 20,000 HXE=a=
281 JIEt=3=3 ESl 10,000 BIANE=E=
282 JIEt=3=3 Bk 10,000 HXE=a=
283 JEt=3=3 Bk 20,000 BIANE=E=
284 | 2020-04-30 JEt=d=3 2 xx 10,000 HXE==
285 JIEt=3=3 B xx 5,000 BIXNEZ=E=
286 JEt=d=3 2 xx 10,000 HXE=E=
287 JIEt=3=3 Erx 5,000 BIXNEZ=E=
288 JIEt=3 =3 =R 10,000 HXE==
289 JIEt=3=3 B xx 5,000 BIXNEZ=E=
290 JIEt=3 =3 | %% 3,000 HXE==
291 | 2020-05-04 EDJEF_% =23 o 100,000 HXE=E=
292 JIEt=3 =3 (%x 100,000 HXE=3=
293 | 2020-05-06 JIEt=3=3 2 50,000 BIXNE=E=
294 JEt=d=3 B xx 10,000 HXE=E=
295 JIEt=3=3 ok 10,000 BIXNE=E=
296 | 2020-05-07 JEt=d=3 Bk 200,000 HXE=E=
297 | 2020-05-08 JIEt=3=3 ok 50,000 BIXNE=E=
298 JEt=d=3 D *x 30,000 HXE=E=
299 JIEt=3=3 (%% 200,000 BIXNE=E=




300 | 2020-05-09 JEt=d=3 Fx 5,000 HXE=E=
301 | 2020-05-11 JIEt=3=23 Exx 10,000 HXANEZ=E=
302 JEt=d=3 O »* 10,000 HXE=E=
303 JIEt=3=23 Stk 10,000,000 ANE=d=

304 | 2020-05-13 JEt=d=3 &k 10,000 HXE=E=
305 JIEt=3=23 % 20,000 HXNEZ=E=
306 JEt=d=3 B % 30,000 HXE=E=
307 JIEt=3323 T xx 30,000 HAE=3=
308 JEt=d=3 Sx 20,000 BINE=&=
309 JIEt=3=23 CH*= 40,000 HAE=3=
310 JEt=d=3 & xx 10,000 BINE=&=
311 | 2020-05-15 JIEt=33=23 B xx 20,000 HAE=3=
312 | 2020-05-18 JEt=d=3 Sx 10,000 BINE=&=
313 JIEt=3=23 ESL 10,000 HAE=3=
314 JEt=d=3 O »* 10,000 BINE=&=
315 JIEt=3=23 Blxx 5,000 HAE=3=
316 JEt=d=3 O »* 10,000 BINE=&=
317 JIEt=3 =3 Dxx 10,000 HXE=E=
318 | 2020-05-20 JEt=3=3 &k 10,000 BIANE=E=
319 | 2020-05-22 JIEt=3 =3 Zlx% 50,000 HXE=E=
320 | 2020-05-25 JEt=3=3 &k 3,000 BIANE=&=
321 JIEt=3 =3 Lk 30,000 ANE=d=

322 JEt=3=3 Exx 30,000 ANE=d=

323 JIEt=3 =3 T xx 10,000 HXE=E=
324 JEt=3=3 &k 30,000 BIANE=&=
325 JIEt=3 =3 Fx 10,000 HXE=E=
326 JEt=3=3 &k 50,000 BIANE=E=
327 JEt=3=3 ESEL 10,000 HXE=E=
328 JIEt=3=3 L 3,000 BIXNE=E=
329 JEt=d=3 XH % 5,000 HXE=E=
330 JIEt=3=3 Bk 3,000 BIXNE=E=
331 JIEt=3 =3 Eoxx 5,000 HXE=E=
332 JIEt=3=3 Bk 5,000 BIXNE=E=
333 JEt=3=3 2 xx 3,000 HXE=E=
334 JIEt=3=3 Ol »* 3,000 BIXNE=E=
335 JIEt=3 =3 Eoxx 3,000 HXE=E=
336 JIEt=3=3 Exx 5,000 BIXNE=E=
337 JEt=d=3 Loxx 30,000 ANE=E=

338 JIEt=3=3 Lo*x 10,000 BIXNE=E=
339 JEt=d=3 Bk 3,000 HXE=E=
340 JIEt=3=3 Ol »* 3,000 BIXNE=E=
341 JEt=d=3 Z ok 10,000 HXE=E=
342 JIEt=3=3 Erx 10,000 BIXNE=E=




343 JIEE2 22 e 10,0000 HIXZEAZ
344 JIEEaZE 2wk 3,000 HINZsAZ
345 | 2020-05-27 | JiEtBRZE L 50,0000 HIXEZEZ
346 JIEEAZE 2k 20,0000 HIXNFBAZ
347 JIEE2 22 2w 30,0000 HIXNEZHEZ
348 JIEEAZE e 10,0000 HIXNZ2AZ
349 JIEIZAZE L 10,0000 HIXNEZEZ
350 | 2020-05-28 | JIEIERZE Dk 10,0000 HIXNZEAZ
351 JIEIE2 22 o 10,0000 HIXEEAZ
352 JIEEZE Stk 20,0000 HIXXFBAZ
353 JIEtER2E Bk 10,0000 HIXZEAZ
354 JIEEZE 0l 10,0000 HIXNX2AZ
355 JIEtER2E 0l »x 10,0000 HIXNEEAZ
356 | 2020-05-29 | JIEtERZE Ofxx 50,0000 HIXNXBAZ
357 | 2020-05-31 | JiEtBREZE 2w 10,0000 HIXNEEAZ
358 JIEEZE Al 10,0000 HIXNZBAZ
359 JIEIE2 22 = 10,0000 HIXNEEAZ
360 JIEEA2E 2wk 10,0000 HIXNXBAZ
361 JIEERZE Stk 50000 HIXNESAS
362 JIEEA2E £ wx 3,000 HIXNESAS
363 | 2020-06-01 | JIEtRRZE Stk 200,000 HINESAZ
364 JIEEA2E (% 100,000 HINESA2
DIEHY 2 E 2
365 = T 100,000 HINES2Z
366 | 2020-06-03 | JIEtERZE 2wk 10,0000 HIXNXBAZ
367 JIEER2E 2 10,0000 HIXEEAZ
368 JIEEA2E A 50,0000 BN
369 | 2020-06-05 mﬂMzéﬁg' Sk 400,000 HINES2Z
370 | 2020-06-08 | JIEtERZE Qo 30,0000 HIXNZEEAZ
371 JIEE2E 2w 50,0000 HIXXBAZ
372 | 2020-06-00 | JIEtERZE Rk 50000 HIXNRSAS
373 | 2020-06-10 | JIEt=RZE (xx 200,000  HINESA2
374 | 2020-06-11 | JIEtERZE 0l »x 10,000, HIXIRSAZ
375 JIEE2E 2w 10,0000 HIXNXBZ
376 | 2020-06-12 | JIEtERZE Dk 20,0000 HIXNZEEAZ
377 JIEE2E CH ¢ 40,0000 HIXNIZERAZ
378 JIEIEA2E = 20,0000 HIXNEZHZ
379 JIEEaZE Pk 30,0000 HIXZBVZ
380 JIEE2 22 Bk 30,0000 HIXNEZES
381 JIEEaZE Bk 10,0000 HIXNZ2Z
382 | 2020-06-15 | JIEtERZE 2w 10,0000 HIXNEZAZ
383 JIEEaZE Stk 20,0000 HIXZEBVZ
384 | 2020-06-17 | JiEtmRZE S 10,0000 HIXNEZAZ
385 JIEEaZE Al 5,000 HINZSRAZ




386 JEt=d=3 Lxx 10,000 HXE=E=
387 JIEt=3=23 Ol »* 10,000 HXANEZ=E=
388 JEt=d=3 O »* 10,000 HXE=E=
389 JIEt=3=23 D*x 10,000 HXNEZ=E=
390 | 2020-06-18 JEt=d=3 &k 10,000 HXE=E=
391 | 2020-06-23 JIEt=3=23 El % 10,000 HXNEZ=E=
392 | 2020-06-24 JEt=d=3 Bk 10,000 HXE=E=
393 JIEt=3323 ESE 50,000 HAE=3=
394 JEt=d=3 T xx 10,000 BINE=&=
395 | 2020-06-25 JIEt=3=23 B xx 3,000 HAE=3=
396 JEt=d=3 Bk 15,000 BINE=&=
397 JIEt=33=23 Ol »* 3,000 HAE=3=
398 JEt=d=3 & xx 10,000 BINE=&=
399 JIEt=3=23 Eoxx 10,000 HAE=3=
400 JEt=d=3 Lxx 5,000 BINE=&=
401 JIEt=3=23 & xx 3,000 HAE=3=
402 JEt=d=3 Eorx 5,000 BINE=&=
403 JIEt=3 =3 Bk 3,000 HXE=E=
404 JEt=3=3 XH ** 5,000 BIANE=E=
405 JIEt=3 =3 & xx 6,000 HXE=E=
406 JEt=3=3 L 3,000 BIANE=&=
407 JIEt=3 =3 Fx 10,000 HXE=E=
408 JEt=3=3 &k 50,000 BIANE=E=
409 JIEt=3 =3 & xx 30,000 HXE=E=
410 JEt=3=3 Lk 30,000 INESEC
411 JIEt=3 =3 Exx 30,000 ANE=d=
412 JEt=3=3 *k 10,000 BIANE=E=
413 JEt=3=3 Bxx 5,000 HXE=E=
414 JIEt=3=3 Erx 3,000 BIXNE=E=
415 JEt=d=3 Ol »* 3,000 HXE=E=
416 JIEt=3=3 2 xx 3,000 BIXNE=E=
417 JEt=3=3 & xx 3,000 HXE=E=
418 JIEt=3=3 Bk 5,000 BIXNE=E=
419 JEt=3=3 Loxx 30,000 ANE=d=
420 | 2020-06-29 JIEt=3=3 Ol »* 10,000 BIXNE=E=
421 JEt=3=3 Ol »* 10,000 HXE=E=
422 JIEt=3=3 Bk 10,000 BIXNE=E=
423 JEt=d=3 = 10,000 HXE=E=
424 JIEt=3=3 Bk 20,000 BIXNE=E=
425 JEt=d=3 Loxx 10,000 HXE=E=
426 JIEt=3=3 & xx 30,000 BIXNE=E=
427 JEt=d=3 e 20,000 HXE=E=
428 JIEt=3=3 2% 50,000 BIXNE=E=




429 il 10,0000 HINZ=zaZ
430 JIEIERE 10,000 HIXEEAZ
431 | 2020-06-30 | JIEIEEZE 3,000 HXUZEAD
432 JIEIERE 10,0000 HIXEEAZ
433 plI 10,000 HIXNZ=aZ
434 JIEIERE 10,0000 HIXEEAZ
435 il 10,000 HIXNZ=aZ
436 JIEIERE ] 500 HXUE=A2
437 | 2020-07-01 | JIEIZR2E o 50,0000 HIXZEaZ
438 | 2020-07-02 | JIEIE=R2E ( 100,000 HINE=AZ
439 pll 2 wx 10,000 HIXNEzAZ
DIRICH 2x 2
440 = 3 100,000 BINESAZ
441 | 2020-07-03 | JIEIZR2E 2wx 50,0000 HIXZEaZ
442 JIEIERE Shox 10,0000 HIXNE=aZ
443 | 2020-07-08 | JIEIZR2E o) 200,000 BINESA2
444 JIEIERE 50,0000 HIXZEAZ
445 IESE2E 30,0000 HIXNEEA2
446 | 2020-07-09 | JIEIBRZE 500 HIX=EsA2
447 | 2020-07-10 | JIEIZRA2E 300,000 e
448 JIEIEURE 200,000 HINEEA2
449 | 2020-07-13 | JIEIERA2E 10,000 HIXNEEAZ
450 JIEIEURE 10,0000 HIXEEaZ
451 plI=E 20,000 HIXIEEA3
452 JIEIEURE 10,0000 HIXEEaAZ
453 JIEEU2E 30,0000 HIXNEEA2
454 JIEIEURE 10,0000 HIXEEaAZ
455 JIEIEA2E 40,0000 HIXIEEA2
456 JEIER2E 30,0000 HIXFEAZ
457 IEIEA2E 20,0000 HIXEEAZ
458 | 2020-07-15 | JIEIBRZE 20,0000 HIXZEAZ
459 JIEIEA2E 10,0000 HIXEEAZ
460 | 2020-07-17 | JIEIBRZE 10,000, HIXIZERA
461 BB E 10,0000 HIXEEAZ
462 JEIER2E 10,000, HIXIZERA
463 BB E 500 HIXEsA2
464 JEIER2E 10,000, HIXIZERA
465 BB E 10,0000 HIXEEAZ
466 | 2020-07-20 | JIEIBRZE 10,0000 HINE=zaZ
467 BB E 500 HIXEsA2
468 plIE 10,0000 HINE=zaZ
469 | 2020-07-22 | JIEISA2E 10,000 HIXE:AZ
470 plIE 50,000 HIXNEE22
471 | 2020-07-23 | JIEISA2E 10,000 HIXE:AZ




JIEIEADE
JIEISATE L Cot e O e
P —— 3,000 vumswa
JIES RSB 3.0000 AAS=ES
P —— 5,000 Hum=w3
JIES RSB 3.0000 oAS=ES
P —— 5,000 Hum=w3
EEEr S| A=
JIEIS RS E °.0000 HifS=ES
JElEAaE 5,000 HXE=J=S
JIEIS RS E 3.0000 Hf8=#S
HEASE 3,000 GNzZse=
JIEIS RS E 3.0000 Hif8=#S
HERSE 3,000 BNzZse=
JIEIS RS E °.0000 HifS=ES
JIES RS E 10.000) HIAZFES
JIEIS RS E Oee 3.0000 Hf8=#S
JIESATE e o0 B e
JIESR3E _ 10.000 SINZ=#3
JIEIZ/ASE o 10,000 HIXEEAZ
JEEe2E = 10,000p sINE=A3
JIEt2|AZ23 oo 50,000 HIXEZ23
eSS E 00000 HIF=S
JIES RS E 0,000 AS=#S
eSS E 00000 ASF=S
JIEISRTE Sl HE T
JIES RSB 10.000) BIASTES
JIES RS E . ey Ul
JIEISRSE 20,0000 ofSEES
JIES RS E L e
JIEISRSE 10.0001 WIASF=S
JIES RS E 2yl HNE e
JIEISRSE 10.000) HIASF=S
JIES RS E L e
JIEISRSE 10.0001 WIASF=S
JIES RS E byl HNE e
JIEISRSE 10.0001 WIASF=S
JIEIEADE 0,000 BINE=ES
JIES R E 10.000) HIASZES
JIEIEADE 10.000) HINZ=ES
JIEISRSE 10.0001 WIASF=S
JIEIEADE 10.000) HINZ=ES
JIEISRSE 491 HASF=S

35,0000 HNmsEa




515 | 2020-08-03 | JIEIZRZE 10,0000 HIXNE=AI
516 IESAZE 100,000 BINESAD
DI 2E3
517 = 100,000 BINEEAZ
518 | 2020-08-05 | JIEIZRAZE 10,000 HIXIZZAZ
519 IEtS2E 50,0000 HINE=A3
520 | 2020-08-07 | JIEIZRZE 50,000 HIXIEZR2
521 IEtSZE 30,0000 HIXNE=A3
522 | 2020-08-09 | JIEIZRZE 500 BINESAD
523 | 2020-08-10 | JIEIERDE 200,000 HIXEERAZ
504 | 2020-08-11 | JIEIZRAZE 10,000 HIXNEZAZ
525 e SAZE 10,0000 BIXNEZ2
526 | 2020-08-12 | JIEIER2E 20,000 HIXIEZR2
527 e SAZE 10,0000 BIXNEZ2
528 IEISAZE 10,0000 HIXNEZAZ
529 e SAZE 30,0000 HIXNEZE2
530 IEISAZE 40,0000 HINEzAZ
531 e SAZE 30,0000 HIXNEZE2
532 IEISAZE 20,000 HIXIEZR2
533 | 2020-08-13 | JIEIERUDE 200,000 HIXIESRAZ
534 IEISAZE 10,000 HIXNEzAZ
535 e SAZE 100,000 HIXIESRAZ
536 | 2020-08-18 | JIEIZRZE 20,000 HIXIEZR2
537 | 2020-08-20 | JIEIERDE 10,0000 BIXNE=2
538 | 2020-08-21 | JIEIER2E 10,000 HIXNEzAZ
539 e SAZE 500 HIXESAZ
540 IEISAZE 10,0000 HIXNEzAZ
541 IESAZE 10,000 HIXNEZAZ
542 IEISAZE 10,0000 HINEZAZ
543 IESAZE 5000 BINEEAD
544 IEISAZE 10,0000 HINEZAZ
545 IESAZE 10,000 HIXNEZAZ
546 | 2020-08-24 | JIEIERUDE 10,0000 HINEZAZ
547 IESAZE 50,000 HIXIEZA2
548 IEISAZE 10,0000 HINEZAZ
549 IESAZE 10,000 HIXNEZAZ
550 | 2020-08-25 | JIEIERDE 3,000 BINESAD
551 IESAZE 3,000 BINESAD
552 JIEtSR2E 500 HXEsRZ
553 IESAZE 10,000 HINEZAZ
554 JIEtSR2E 10,0000 HIXE=A2
555 IESAZE 3,000 BINEEAD
556 JIEtSR2E 3,000 HIXEsRZ
557 IESAZE 10,000 HIXNEZAZ




558 JEt=d=3 owx 10,000 HXE=E=
559 JIEt=3=23 Sxx 5,000 HXANEZ=E=
560 JEt=d=3 O »* 3,000 HXE=E=
561 JIEt=3=23 2wk 3,000 HXNEZ=E=
562 JEt=d=3 &k 3,000 HXE=E=
563 JIEt=3=23 Erx 5,000 HXNEZ=E=
564 JEt=d=3 Bk 3,000 HXE=E=
565 JIEt=3323 XH % 5,000 HAE=3=
566 JEt=d=3 & xx 3,000 BINE=&=
567 JIEt=3=23 Lbsx 3,000 HAE=3=
568 JEt=d=3 Lxx 30,000 ANE=d=
569 JIEt=33=23 Exx 30,000 ANE=d=
570 JEt=d=3 Lk 30,000 ANE=d=
571 JIEt=3=23 & xx 50,000 HAE=3=
572 JEt=d=3 Fax 10,000 BINE=&=
573 JIEt=3=23 & xx 30,000 HAE=3=
574 JEt=d=3 Bk 5,000 BINE=&=
575 | 2020-08-27 JIEt=3 =3 Loxx 10,000 HXE=E=
576 JEt=3=3 xk 30,000 BIANE=E=
577 JIEt=3 =3 e 50,000 HXE=E=
578 JEt=3=3 Exx 10,000 BIANE=&=
579 | 2020-08-28 JIEt=3 =3 Bhsx 20,000 HXE=E=
580 JEt=3=3 Bk 10,000 BIANE=E=
581 JIEt=3 =3 Ol »* 10,000 HXE=E=
582 JEt=3=3 Ol »* 10,000 BIANE=&=
583 JIEt=3 =3 Fexx 10,000 HXE=E=
584 JEt=3=3 D% 10,000 BIANE=E=
585 | 2020-08-31 JIEt=3 =3 Srx 10,000 HXE=E=
586 JIEt=3=3 | % 3,000 BIXNE=E=
587 JEt=d=3 & xx 10,000 HXE=E=
588 JIEt=3=3 2k 50,000 BIXNE=E=
589 JEt=3=3 & xx 10,000 HXE=E=
590 JIEt=3=3 B xx 10,000 BIXNE=E=
591 | 2020-09-02 JIEt=3 =3 (*x 100,000 HXE=E=
592 JIEt=3=3 2 xx 10,000 BIXNE=E=
Qe 2x=
593 = = 100,000 BIXNEZ=E=
594 | 2020-09-03 JIEt=3=3 2 50,000 BIXNE=E=
595 JEt=d=3 B xx 10,000 HXE=E=
596 | 2020-09-09 JIEt=3=3 & xx 50,000 BIXNE=E=
597 JEt=d=3 Bk 200,000 HXE=E=
598 JIEt=3=3 D*x 30,000 BIXNE=E=
599 JEt=d=3 Fx 5,000 HXE=E=
600 | 2020-09-10 JIEt=3=3 (%% 200,000 BIXNE=E=




601 | 2020-09-11 JEt=d=3 O »* 10,000 HXE=E=
602 JIEt=3=3 2 xx 10,000 HXNEZ=E=
603 | 2020-09-14 JEt=d=3 Z ok 10,000 HXE=3=
604 JIEt=3=3 % 20,000 HXANE=E=
605 JEt=d=3 Bk 30,000 HXE=3=
606 JIEt=3=3 T xx 30,000 HXANE=E=
607 JEt=d=3 S 10,000 HXE=d=
608 JIEt=3=3 &k 10,000 HANE=3=
609 JEt=3=3 CH*= 40,000 BIANE=&=
610 JIEt=3=3 Srx 20,000 HAE=3=
611 | 2020-09-15 JEt=d=3 Bk 20,000 BIANE=&=
612 | 2020-09-17 JIEt=3=3 Lxx 10,000 HANE=3=
613 JEt=d=3 Dxx 10,000 BIANE=&=
614 JIEt=3=3 O »* 10,000 HANE=3=
615 JEt=3=3 Blxx 5,000 BIANE=E=
616 JEt=3=3 SHx 10,000 HANE=3=
617 JEt=d=3 O »* 10,000 BIANE=&=
618 | 2020-09-18 JIEt=3=3 & xx 10,000 HXE=a=
619 | 2020-09-21 JEt=3=3 Ol »* 10,000 BIANE=E=
620 | 2020-09-22 @%I%% S 2 xx 100,000 INESEC I
621 JIEt=3=3 Bxx 400,000 AE=d=
622 | 2020-09-23 JIEt=3=3 | %% 50,000 HXE=a=
623 JEt=3=3 T xx 10,000 BIANE=E=
624 JIEt=3=3 ESE 10,000 HXE=a=
625 | 2020-09-25 JIEt=3=3 LExx 30,000 AE=d=
626 JIEt=3=3 Bhxx 100,000 ANE=d=
627 JIEt=3=3 2k 30,000 ANE=d=
628 JEt=d=3 2 xx 50,000 HXE==
629 JIEt=3=3 e xx 30,000 BIXNEZ=E=
630 JIEt=3 =3 Fx 10,000 HXE=E=
631 JIEt=3=3 ESl 30,000 ANE=d=
632 JEt=d=3 2 xx 3,000 HXE==
633 JIEt=3=3 Erx 10,000 HXE=3=
634 JIEt=3 =3 Eoxx 5,000 HXE==
635 JIEt=3=3 e xx 10,000 BIXNEZ=E=
636 JEt=d=3 Ol »* 3,000 HXE=E=
637 JIEt=3=3 B xx 3,000 BIXNE=E=
638 JEt=d=3 Bk 5,000 HXE=E=
639 JIEt=3=3 e 10,000 BIXNE=E=
640 JEt=d=3 S xx 5,000 HXE=E=
641 JIEt=3=3 Erx 3,000 BIXNE=E=
642 JEt=d=3 O »* 3,000 HXE=E=
643 JIEt=3=3 2wk 3,000 BIXNE=E=




644 JIEIEAZE S5 3,000 BINESAZ
645 BRI E 2 wr 3,000 HXIEAZ
646 JIEIEAZE L 3,000 BINESAZ
647 BRI E 2 wr 3,000 HXIEAZ
648 IEIEAZE S5 50000 BINESAZ
649 BRI E Tk 5,000 BINESAZ
650 | 2020-09-28 | DJIEt=RIE Tk 10,0000 HINZEAZ
651 B2 E 2 wr 30,000 HINZEHS
652 JIEIERAZE 2r 50,000 HIXNZBAS
653 JIEIERZE L 10,0000 HINZzAZ
654 | 2020-09-30 | JIEIZRZE 2 wx 10,0000 HINZZAZ
655 B2 E £ »x 3,000 HXNFSAZ
656 JIEIERAZE 2 wx 10,0000 HINZEAZ
657 JIEIER2E S 10,0000 HINZzAZ
658 JIEIERAZE A xx 10,0000 HINZEAZ
659 | 2020-10-05 | JIEI=RIE 5 200,000 HINFZAZ
660 JIEIERAZE S5 20,000 HIXNRBAS
661 JIE SR E B e 10,0000 HINZ=AZ
662 JIEIERZE Ol 10,0000 HINZZAZ
663 JIE SR E Ol 10,0000 HINZzAZ
664 JIEIERZE Ofwx 50,000 HIXNZBAI
665 JIE SR E ok 10,0000 HINZzAZ
666 JIEIERZE Dx 10,0000 HIXNIzaZ
667 JIE SR E (% 100,000 BINESAZ
Q1L 2E2
668 = Sk 100,000 HIXNFSAZ
669 | 2020-10-07 | JIEI=R2E A 50,000 HIXNZZRZ
670 =2 E D 30,0000 HINZBAS
671 JIE SR E o 10,0000 HINZzAZ
672 JIEIERZE 2 wr 10,0000 HIXNZzAZ
673 JIE SR E 2w 50,000 HINZZHS
674 | 2020-10-08 | JIEt=RIE S 500,000 HINFEAZ
675 | 2020-10-09 | JIEI=RSE (% 200,000 HINHZAZ
676 JIEIERZE Fx 5,000 BINESAI
677 | 2020-10-12 | JIEI=RSE 2w 10,0000 HINZZAZ
678 JIEIERZE Ol 10,0000 HINZzAZ
679 | 2020-10-14 | JIEI=RSE & 10,0000 HINZZAZ
680 JIEIERZE Tur 10,0000 HINZ2AZ
681 JIEERAZE [« 40,0000 HINZsAZ
682 JIEIERZE S 30,000 HINZEES
683 JIEERAZE A x 10,0000 BIXNZzAZ
684 JIEI=RZE D 20,000 HINZBAS
685 JIEERAZE 2 sx 20,000 HINESHS
686 | 2020-10-15 | JIEt=R3E S5 20,000 HINZEES




687 | 2020-10-19 JEt=d=3 ESl 10,000 HXE=E=
688 JIEt=3=3 Ol »* 10,000 HXNEZ=E=
689 JEt=d=3 Alxx 5,000 HXE=3=
690 JIEt=3=3 2 xx 10,000 HXANE=E=
691 JEt=d=3 SHx 10,000 HXE=3=
692 JIEt=3=3 D*x 10,000 HXANE=E=
693 JEt=d=3 O »* 10,000 HXE=d=
694 | 2020-10-20 JIEt=3=3 O »* 10,000 HANE=3=
695 | 2020-10-22 JEt=3=3 B ax 10,000 BIANE=&=
696 JIEt=3=3 El % 50,000 HAE=3=
697 | 2020-10-23 JEt=d=3 T xx 10,000 BIANE=&=
698 JIEt=3=3 B R 10,000 HANE=3=
699 JEt=d=3 Bk 50,000 INESECS S

700 | 2020-10-25 JIEt=3=3 B xx 5,000 HANE=3=
701 JEt=3=3 &k 3,000 BIANE=E=
702 JEt=3=3 2 xx 3,000 HANE=3=
703 JEt=d=3 O »* 3,000 BIANE=&=
704 JIEt=3=3 ok 6,000 HXE=a=
705 JEt=3=3 Exx 5,000 BIANE=E=
706 JIEt=3=3 ESL 10,000 HXE=a=
707 JIEt=3=3 Ol »* 3,000 BIANE=E=
708 JIEt=3=3 ESL 5,000 HXE=a=
709 JEt=3=3 R 3,000 BIANE=E=
710 JIEt=3=3 ok 5,000 HXE=a=
711 JIEt=3=3 Bk 3,000 BIANE=E=
712 JIEt=3=3 Lbsx 3,000 HXE=a=
713 JEt=3=3 Exx 10,000 BIANE=E=
714 | 2020-10-26 JEt=d=3 Loxx 30,000 ANE=d=

715 JIEt=3=3 Exx 30,000 ANE=d=

716 JIEt=3 =3 Fx 10,000 HXE=E=
7 JIEt=3=3 ek 50,000 HXE=3=
718 JEt=d=3 2 xx 30,000 HXE==
719 | 2020-10-28 JIEt=3=3 Exx 10,000 BIXNEZ=E=
720 JEt=d=3 2 xx 30,000 HXE==
721 JIEt=3=3 ESl 10,000 BIXNEZ=E=
722 JEt=d=3 LS 10,000 HXE==
723 JIEt=3=3 Texx 10,000 BIXNEZ=E=
724 JEt=d=3 L xx 50,000 HXE=E=
725 JIEt=3=3 Ol »* 10,000 BIXNE=E=
726 JEt=d=3 O »* 10,000 HXE=E=
727 JIEt=3=3 Bk 10,000 BIXNE=E=
728 JEt=d=3 Bk 20,000 HXE=E=
729 | 2020-10-29 JIEt=3=3 2k 50,000 BIXNE=E=




730 | 2020-10-31 JEt=d=3 Sh 10,000 HXE=E=
731 JIEt=3=23 Exx 10,000 HXANEZ=E=
732 JEt=d=3 SHx 10,000 HXE=E=
733 JIEt=3=23 Exx 10,000 HXNEZ=E=
734 JEt=d=3 | xx 3,000 HXE=E=
735 | 2020-11-02 _?_“F_F'% =3 H* 100,000 HXE=d=
736 JEt=d=3 &k 10,000 HXE=E=
737 JIEt=3323 (% 100,000 HAE=3=
738 | 2020-11-04 JEt=d=3 Bhxx 10,000 BINE=&=
739 JIEt=3=23 2% 50,000 HAE=3=
740 | 2020-11-06 JEt=d=3 Bk 200,000 BINE=&=
741 | 2020-11-09 JIEt=33=23 & xx 50,000 HAE=3=
742 JEt=d=3 Fax 5,000 BINE=&=
743 JIEt=3=23 Dxx 30,000 HAE=3=
744 | 2020-11-10 JEt=d=3 (*x 200,000 BINE=&=
745 | 2020-11-11 JIEt=3=23 Ol »* 10,000 HAE=3=
746 | 2020-11-12 JEt=d=3 Sk 10,000 BINE=&=
747 JIEt=3 =3 S xx 10,000 HXE=E=
748 JEt=3=3 CH*= 40,000 BIANE=E=
749 JIEt=3 =3 S 20,000 HXE=E=
750 JEt=3=3 Bk 30,000 BIANE=&=
751 JIEt=3 =3 LS 20,000 HXE=E=
752 | 2020-11-13 JEt=3=3 &k 10,000 BIANE=E=
753 | 2020-11-16 JIEt=3 =3 Bhwx 20,000 HXE=E=
754 | 2020-11-18 JEt=3=3 Sx 10,000 BIXNE=&=
755 JIEt=3 =3 Loxx 10,000 HXE=E=
756 JIEt=3=3 S 5,000 BIXNE=E=
757 JEt=3=3 Ol »* 10,000 HXE=E=
758 JIEt=3=3 Alxx 5,000 BIXNE=E=
759 JEt=d=3 Ol »* 10,000 HXE=E=
760 JIEt=3=3 Dxx 10,000 BIXNE=E=
761 JEt=3=3 & xx 10,000 HXE=E=
762 | 2020-11-20 JIEt=3=3 Ol »* 10,000 BIXNE=E=
763 | 2020-11-23 JEt=3=3 ESEL 50,000 HXE=E=
764 JIEt=3=3 Bk 10,000 BIXNE=E=
765 JEt=3=3 ESEL 10,000 HXE=E=
766 | 2020-11-25 JIEt=3=3 T xx 10,000 BIXNE=E=
767 JEt=d=3 Z ok 30,000 HXE=E=
768 JIEt=3=3 & xx 3,000 BIXNE=E=
769 JEt=d=3 Y xx 3,000 HXE=E=
770 JIEt=3=3 Ol »* 3,000 BIXNE=E=
771 JEt=d=3 Eoxx 3,000 HXE=E=
772 JIEt=3=3 B xx 5,000 BIXNE=E=




773 B2 E e 30,000 NHSAZ
774 JIEtSRAZE e 30,000 NHEA2
775 B2 E L 3,000 BINESAZ
776 JIEtSRAZE 2w 3,000 HINESAZ
777 B2 E B} e 3,000 BINESAZ
778 JIEtS A2 E =i 5,000 BINESAZ
779 IESRZE 2w 3,000 BINESAZ
780 JIEIS /A2 E e 5,000 HIXNZSAZ
781 JIEISRZE Xk 10,0000 HIXNEZHZ
782 JIEIS /2 E 2wk 20,000 HIXNESZHEI
783 JIEISRZE Ol 3,000 HIXNESAZ
784 JIEIS /A2 E 5} e 3,000 BINESAZ
785 JIEISRZE S} o 5,000 BINESAZ
786 JIEIS /2 E e 10,0000 HIXNZ2AZ
787 JIEISRZE S x 5,000 BINESAZ
788 JIEIS /A2 E R 10,000 HINEZAZ
789 | 2020-11-27 | JiEt2REE 2 50,000 HINESHS
790 JIEIS 2 E 2w 30,0000 HINESHEI
791 JIEIERZE e 10,000 HBIXNEZAZ
792 | 2020-11-30 | JIEtmRE2E 2w 10,0000 HIXNRZAZ
793 IEISRZE Ol 20,0000 HIXEZHEZ
794 JIEIS 2 E Dex 10,0000 HIXNXBAZ
795 JIEIERZE 2w 10,000 HBIXNEZAZ
796 JIEIS 2 E Sk 10,0000 HIXNRZAZ
797 JIEISRZE A wx 10,0000 BIXNEzAZ
798 JIEIS 2 E E|wx 3,000 HIXNZSAZ
799 JIEIERZE B ax 20,0000 HIXEZEZ
800 JIEIE3E o 10,0000 HIN=ZAZ
801 JIEIS 2 E Ol 10,0000 HINEZAZ
802 JIEIE3E Ol 10,0000 HIN=ZAZ
803 JIEISRZE ZE 10,0000 HINEZAZ
804 JIEtS 2 E Ok 50,000 HINESAI
805 | 2020-12-01 9392553 Hwr 3,000,0000 HIN=ZAZ
806 JIEtS 2 E S} o 200,000 HINESAZ
807 | 2020-12-02 | DJIEtSAUIE e 1,000,000 N2
DIRtEt Y 2x3
808 = Sx 100,000 HINESAZ
809 JIEISRZE 2w 10,0000 HINEZAZ
810 JIEISRZE (5% 100,000 BINESAZ
811 | 2020-12-03 | DJIEISA3E Y 50,000 HINESE3
812 JIEISRZE e 10,0000 HIN=ZAZ
813 | 2020-12-05 | JIEISAIE E 420,000 HINESAZ
814 | 2020-12-07 | JIEt=A3E Bhix 1,000,000 BINESAZ
815 JIEISRZE B 4,000,000 HINESAZ




816 | 2020-12-08 | =L TS (e 1,000,000 HINE=EI
817 | 2020-12-09 | DiEizR2E S 5000 winzsaz
818 JIEISRTE = 200,000 HREsAZ
819 JIEISATE 2w 50,000 BHiNmsaZ
820 JIEISRTE @ xx 30,0000 Bx=sa3
g21 | 2000-12-11 | dlEizRaE 0]+ 10,000 HINEEE
822 | ao0-1o-1z | BHET TES 2 er 100,000  NEHAI
823 | 2020-12-14 | DlEizR2E Doex 20,0000 HIXESAZ
824 JIEISASE 2 ex 10,0000 HINEEE
825 JIEISRIE Hpex 10,000 BN
826 JIEISASE Biee e IEEEEEE
827 JIESATE [+ 20,000 sinmsa=
828 JIEISASE £ 20,0000 Bx=sa3
829 JIESATE 4 0x 30,000 Biuzsaz
830 | 2020-12-15 | DleizeaE 5t s 20,000 BINESAZ
831 | 2020-12-17 | oDleizwaE 0]+ 10,000 BN
832 JIESASE Ll 5,000 wBinzsaz
833 JIESATE 0]+ 10,000 BNz
834 JIESASE @ ux 10,000 BN
835 JIESATE 2 10,000 BN
836 JIESASE e 10,000 BN
837 | 2000-12-18 | DlEizmaE o 10,000 BNz
838 | 2020-12-19 | DleizwaE Biex 1,000,000 NE=E
830 | coc0-12-22 | DleizmaE 0]+ 10,000 BN
sa0 | 2020-12-23 | DleizEaE e 10,000 BN
841 JIESATE o 50,000 HiNmsa3
842 JIESASE 2| 10,000 s
843 seeE FEs - 271,580  NFBA2
844 JIESASE S 10,000 HINEEE
845 JIEISATE 2| 50,000 HiNmsaz
816 | 20201224 | DleizEaE 5t ex 100,000 NEeE
847 | 2020-12-25 | DleizmaE 2w 6,000 Binmsaz
848 JIES AT E Lies 3,000 wBinmsaz
849 JIEISATE 0]+ 3,000 Biumsaz
850 JIES AT E 5t ex 3,000 wBinmsaz
851 JIEISATE K er 50000 Binzsaz
852 JIESASE o 3,000 wHinmsaz
853 JIEISRIE Zwx 50000 wxzmsaz
854 JIESASE & er 10,000 HINEEE
855 JIEISRIE 2 ex 10,000 HINmEE
856 JIESASE 5t ex 5000 winzsaz
857 JIEISRIE 2 xx 3,000 Biumsaz




858 JEt=d=3 O »* 3,000 HXE=E=
859 JIEt=3=23 S 5,000 HXE=3=
860 JEt=d=3 Bk 5,000 HXE=E=
861 | 2020-12-26 JIEt=3=23 2wk 500,000 NE=dz
862 | 2020-12-28 JEt=d=3 &k 30,000 HXE=E=
863 JIEt=3=23 Fx 10,000 HXE=3=
864 JEt=d=3 Exx 30,000 ANE=E=
865 JIEt=3323 Lxx 30,000 NE=dz
866 | 2020-12-30 JEt=d=3 ESl 10,000 HXE==
867 JIEt=3=23 & xx 30,000 HXE=3=
868 JEt=d=3 2 xx 50,000 HXE=3=
869 JIEt=33=23 LS 10,000 HXE=3=
870 JEt=d=3 TEAx 10,000 HXE=d=
871 JIEt=3=23 2wk 50,000 HXE=3=3
872 JEt=d=3 O »* 10,000 HXE=d=
873 JIEt=3=23 Ol »* 10,000 HXE=3=
874 JEt=d=3 Bk 10,000 HXE=d=
875 JIEt=3 =3 Bhsx 20,000 HXE=E=
876 | 2020-12-31 JEt=3=3 SEL 10,000 HXE=3=
877 JIEt=3 =3 ESES 3,000 HXE=E=
878 JEt=3=3 &k 10,000 HXE=3=
879 JIEt=3 =3 & xx 10,000 HXE=E=
880 JEt=3=3 Sax 10,000 HXE=3=

50,686,571




